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Lighthouse P4 (Checkpoint 2)

Fill in this multiplication grid

x | 8| 7|6
Q
6
4
Round the following:
298 (nearest 10) b) 449 (nearest 100) )  3.82 (one decimal place)

Work out the following i 19[]
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@ 6-9 b 2+6 o -3-9 [
[
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a 726 +135 b) 411 - 387 = i
L g
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763 x 4 i i
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Change these into fractions I ;
a 0.7 b) 0.32 c 0.03 i :g
- (10
Write these as decimals
2 b) Va A

Change these 24 hour clock times into 12 hour clock times

4 cm

17:24 b) 11:17

3cm

Work out the perimeter of this shape. 6cm

(not drawn to scale)

12 em




